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Paper : MINFIN2
( Cost Accounting )
1. (@) <0 [0 1x4=4
Fill in the blanks :
(i) 3™ e e T BT (P |

Costing is a technique of

¥ e Ty orate T 3T
CFIS TS W |

(@

method of pricing issues is
suitable in case of raising prices.
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(2)

(iii) SN @GOl % |
Depreciation is a expense.
(iv) 7 e &fe 7% TR (FES

4TS A |

costing method is applicable
for dairy industry.

(b) o1 7wy foran 1x4=4
Write True or False :

(i) zﬁqwmi’amwmﬁ@
=[5e T |

Two types of idle times are normal
and abnormal idle time.

(i) o1 AfoIRR =TS A1 EeeR e R
T RRoret Bera |
Cost accounting is useful for
ascertaining the profit or loss of a

firm.
(i) BT T4 WA AN fefes e
A

Canteen expenses are apportioned
on the basis of number of workers.

(iv) ORI TEE TP 395 IS (TR A |
Service costing is also known as
output costing.
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(3)

2. oo fFeaRs [ e fofbR v oY (Il ferei

4x3=12
Write short notes on any three of the
following :
() IRETRET 4a5 e
Activity-based costing
(b) T TG I
Time wage system
(c) =316 3am 3’3 ree
Bin Card uvs. Stores Ledger
(d) SORERSY MY
Absorption of overheads
(e) AGAR O
Process losses
3. (@) %% fRor e fr 1 efRoEwE wRe e
39 RO @Y A 40 2+8=10
Define cost accounting. Explain the
importance of cost accounting as a
managerial tool.
P25/1528 ( Turn Over )



(4)

</ Or

(b) €Ol @EARNE 2024 B GAR TR A
AR A6 WE AfS TG AT 30
(ARG ¥ G e 9 | wace RE ue
ST <6 oM Tferear 10
Prepare the Cost Sheet to show the total
cost of production and cost per unit of
goods manufactured by a company for
the month of July 2024. Also find the
cost of sales and profit :

51 (T)
(FONER 89, 01.07.2024 3,000
Stock of Raw Materials as on 01.07.2024
T I IO 28,000
Raw Materials purchased
FEER 89F, 31.07.2024 4,500
Stock of Raw Materials as on 3 1.07.2024
e TR 7,000
Manufacturing Wages
253 ST o 2 1,500
Depreciation on Plant
T3 51 e G TS (AT (EAFE 300
Loss on sale of a part of Plant
IR S9! 1T (TG 3,000
Factory Rent and Rates
HfFES Srel 500
Office Rent
YT 6 400

General Expenses
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4.

(5)

531 (%)
RE7 ev=z =32 300
Discount on Sales
ReErem o e = 600
Advertisement Expenses io be charged fully
TRIR R 4 = 2,000
Income Tax paid
& 50,000
Sales

2024 9% TF: T3 (ST S0
el =iR= 3000. 01.07.2024 U<

31.07.2024 =@ F=9< ¥E2< 3¢ &

200 HF 400 oMb TiRE | 01.07.2024
ofkz T ¥ ITRooEm T IS IRE

The number of units produced during
July 2024 was 3000. The stock of
finished goods was 200 and 400 units
as on 01.07.2024 and 31.07.2024
respectively. The total cost of the units
on hand as on 01.07.2024 was T 2,800.
All these had been sold during the
month.

(@) wfeRe w33 e & o= =82 <351 e

SfeRE 7T 4T @FAE @) T2 3+7=10
What is meant by overtime? How should

overtime cost be treated in Cost
Accounts?
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(6)

<1/ Or

(b) TS A REFER #(41 A F0 (i) oK TS ],
(ii) S B, (i) TroN I, (iv) R BT
o wo faR oM oo frm ou fefes
sier] e A 2Y2x4=10
From the details given, calculate
(i) Reordering level, (ij) Maximum level,
(iii) Minimum level, (ivy) Danger level.
Reordering quantity is to be calculated
on the basis of the following informa-
tion :
STTIT T O MR 176—20 B
Cost of placing a purchase order is ¥ 20
JRICMS T FRIANT BO6 He—5000
Number of units to be purchased during the year
is 5000

oifzet <603 43 AfeThT T5T FagEI—50 5

Purchase price per unit inclusive of
transportation cost is T 50

2% TTfBe e e 195—5 bl

Annual cost of storage per unit is ¥ 5

fere Bizea STk -

Details of lead time :
ae—10 fia, FEm™—15 fm, Faes—6 e,
SR ¥ ACI—4 el
Average—10 days, Maximum—15 days,
Minimum—6 days, For emergency pur-
chases—4 days
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(7) |

YRS :

Rate of consumptions :
an L _seoe oo o i E ‘
SHE STE—15 2T m0, A1oM(n RNIES—20 220 Il

Average—15 units per day, Maximum— 20 units Il

f
per day

5. (a) {5 TRET TE 9 e weEm T 9D I
TRET TE T Riel WER ALE T I
[ = 2+2+6=10 |
Define cost allocation and cost |
apportionment. Explain fully the |
distinction between cost allocation and
cost apportionment.

291/ Or

(b) oS FrE "Rz L5 TR @R OO
wfve 37 o5 Seomw Rem A, B 5% C,
W 751 79 Kes X W€ Y SR
The following particulars relate to a
manufacturing company which has I
three production departments—A, B ‘
and C and two service departments—X
and Y :

r

| [Re1979% / Departments
A B C X Y

ofie Rege wepilR 92
ey SS_ET W) 6,300 | 7,400 | 2,800 | 4,500 | 2,000
Total departmental
overheads as per |
primary distribution
(in T)
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(8)

QANE CRI ResR =5 ©ee iy o
fefes (IR[" Frars o :
The company decided to charge the

service departments cost on the basis of
the following percentage :

o Rt Sesfra Rera R R
Service Production Deptt. Service Deptt.
Depitt. A B c X Y

X 40% 30% 20% — 10%
Y 30% 30% 20% 20% —

TRRfEET Ko mfoe SeAmme /1 o
R <o @m Serm Respyza 3
TR ROER 9 | 10

Find the total overheads of production
departments charging service depart-
mental costs to production on the
repeated distribution method.

TG W A B o @EE Soere
T T gamel T R WE S w
]I 2+3+5=10
What do you mean by unit costing? In
which industry unit costing is applied?
Explain its purposes.

P25/1528 ( Continued )




(b)

P25/1528

(9)

</ Or

= AR S TR e 2% IR a8 P
Io wiRE 24 F;Y OOR1 2024 9 31
<1 (25w | TR REIE 4@ 31 wEiEl, 2024

ATC T<3.m (@9 (2= :

M/s. XYZ Company undertook a
contract for erecting sewage treatment
plant for Prosperous Municipality for a
total wvalue of T24 lakhs. It was
estimated that job would be completed
by 31st January, 2024. You are asked
to prepare the Contract A/c for the year
ending 31st January, 2024 from the
following particulars :

(i) S=5—3,00,000 53

Materials—< 3,00,000

(i) ¥5<—6,00,000 T
Wages—< 6,00,000

(iij) €SRTET SE—1,20,000 531
Overhead charges—< 1,20,000

(iv) Rom 2%—2,00,000 53
Special plant—< 2,00,000

10
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( 10 )

(v) IR 2o wife@ 16,00,000 531 o
TR 80% oM 4TS TS 1 C2f%e
Work certified was for ¥ 16,00,000
and 80% of the same was received
in cash

(vi) 31.01.2024 Wty wWe AR
AHA—40,000 571

Materials lying at site as on
31.01.2024—%X 40,000

(vii) TSI oW 10% BT F91 (=R
Depreciate plant by 10%

(viii) &R 91 AT T 5% F TGRT 6%
IW o @A TR AT W W
(7 4R, 77 ofeme a9t @@ a2
SOFCTE AOrF WGRT Mo {2 @
£
5% of the value of materials issued
and 6% of wages may be taken to
have been incurred for the portion
of the work completed, but not yet
certified. Overheads are charged as
a percentage of direct wages

(o) FIH NS S© JRRW A AFGI
6T} IPE HISF I =

Ignore depreciation of plant for use
on uncertified portion of the work

P25/1528 { Continued )



(11)

() ToEE 37 A fofee Ae |E (T

Ascertain the amount to be
transferred to Profit & Loss A/c on
the basis of realized profit

(20xe TR THIT IR A& 20 75 )
( Additional 20 marks for 2023 Batch )

7. (@) fomwTs FrmR TR TECT IS
cfRess o 9 10
Explain the classification of costs for the
purpose of managerial decision-making.

2]/ Or
(b) TR FTHT ARG TEE T FEAR

f=oifs 72 =12
How should overtime cost be treated in
Cost Accounts?

8. (o) fmTofem fom B 3w e o = 3@
@RI = ? 10

What do you mean by fixed overheads?
Why are they called burden?

%<1/ Or
(b) pfE R RFAE (REPTRR T1=0 <41 |

Explain the distinguished features of
contract costing.
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1. (@) W& (S o e

(b) N IR T 0
Fill in the blanks :

P25/1528

(12 )

Paper : MINMKT2

( Advertisement Management )

Write True or False :

()

(@)

(iii)

(i

(i)

s Rerme IPIEE [l IR
R fere @RI |

Industrial advertising is also called
Business-to-Business advertising.

TR B9 PremETer Reem ciRed
Regorce e |

The local store patronage is
advertised by the wholesalers.

o bR wFee IMCI @ IR
8 3¢9 |

Cross disciplinary skills create a
barrier to IMC.

R eI @61 fERe T4 |

is an impersonal form of
communication.

QAR P (R 9ol R& e
CRPIET |

Bonus pack is a sales
promotion technique.

( Continued )

1x3=3

1x3=3



( 13 ) I

(ii) @ AIDA T 219+ S |
AIDA was introduced by :

2. wore fEIRI 54 G ford 4x2=8

Write short notes on the following :

(@) ISR == G0

Comprehension vs. Interpretation

(b} =TGR
Print Media

oo
[

3. (@) REm =2 REW o= Ifese [REF o0
A1 "< =9 4+8=12
What is advertising? Differentiate

between advertising and personal
selling.

=<1/ Or

(b) “RErm= 59 29 @ Bae gpreres | l[
g1, T A CRR H-ISTe THRI S |

2b1RS R (I ows IRE] 7 I 9 12
“Advertising means any paid form of
non-personal presentation and

promotion of ideas, goods or services by
an identified sponsor.” Explain.

P25/1528 ( Turn Over )
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4. (@ “KEo Rew @ae Roo ovkes R
AT SATSETSR SICEDAT 41 | 4+8=12
What is integrated marketing communi-
cation? Discuss the benefits of
integrated marketing communication.

5]/ Or
(b) RE oom e ot 5 Jon 2 e, ATF
Wi IRARPITA [ ABIA (RS AT FJ ?
A= 4 | 3+9=12

What do you understand by sales
promotion? How sales promotion helps
the manufacturers, consumers and
traders? Explain.

5. (@ Rerme R B2 @ ™I R
QIS oo oAl e $91 AREPTRT
Rca e 4 | 3+8=11

What is ‘word-of-mouth’ in advertising?
Discuss the characteristics that
increase the likelihood of success of
word-of-mouth’ communication.

%<1/ Or

(b) %@ﬁwmmﬁqwmqm
ot N 40 11

Explain the diffusion process of
adopting the innovative products.

-

P25/1528 ( Continued )
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( 15 )

6. (@ ZPmE 2 sPriEbes  SAmEETR T
&4 | 3+8=11

What is copywriting? Explain the
elements of copywriting.

<1/ Or

(b) TFS FEPTR IO 6+5=11
Explain ghe following :
Media budget
(i) =R TR

Broadcast media

(Ro% o T2 IR A0 AT 2o 7E)
( Additional 20 marks for 2023 Batch )

7. (@ FEem oRes dfEw Rfen mrsR RI@
EiIESIR 10

Explain different steps in advertising
planning process.

%</ Or

(b) S e o R g7 SRR T
I
. What do you understand by public
relations? Explain with examples.
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(16 )

8. () WWWWWE@WWqW
I1Cq 2 10

How can consumer attention be
grabbed by the marketers?

&</ Or
(b) TS MR B foray - 5+5=10

Write notes on the following :

() RS 1S

Experimental approach

(i) e Roymq

Regression analysis

P25/1528 ( Continued )
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Paper : MINHRM2
( Labour Welfare )

1. (@ == @ 9% &7 1x3=3

Write True or False :

) 1965 swe 3 AT T & oA
52% =7 |
The Bombay Labour Welfare Fund
Act was passed in 1965.

([ % 300 WEE FHR e =,
7o Rew fRfe s ceed =%,
19487 337 [Af¥ |

Appointment of Welfare Officer, if
300 or more workers are employed
is a main provision of the Factories
Act, 1948.

(i) TEAET FGEER A TGS (5
gFed |

For political awareness, social
network is important.

(b) @ I R A : 1x3=3
Fill in the blanks :
() ek Rfveeer TR |

Urban disintegration is
problem.
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2. 579

(18 )

(@) e Fafre s SFw, 9 we
IR A 9% |

Safety, health and welfare of
workers employed in mines are the
concern of

(iii) IR AR R @emEee
ST |

requires that there is frequent
two-way communication.

R 55 G fora 4x2=8

Write short notes on the following :

(@)

(b)

P25/1528

bf& 3o st

Contract vs. Construction

SRS A i\\ﬁ“? W URLE

Development of Indian Social Security
ufie e 2 5fie Fomem T e it

T e e e Bl frme A e
e T w9 2+10=12

What is labour welfare? Explain the
problems and difficulties’ of labour
welfare arose and the status of
measures after the First and Second
World Wars.

( Continued )




(b)

4. (a)

(b)

P25/1528

(19)

241/ Or
35, we, e ot oft wfie Free

How would you introduce different
techniques of Worker’s Education as
HRD-Director?

erafie 7o e 5 3@ 7 Ko IR
wE =IEEE (@E WdE JEET? HCEDAl

F9 1 3+9=

What do you mean by Industrial
Accident? How will you measure the
frequency and severity of accidents?
Discuss.

&1/ Or
SRTT TR WiEA, 1948 WpiR WA
wrer’e e Al 91 |

Discuss the ‘health of workers’ as per
the Indian Factories Act, 1948.

e =fied wRme W @ aFeyd
Discuss the important labour welfare

measures to be adhered under contract
labour.

12

12

12

11
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(b)

6. (a)

(b)

(20)

S2]T/ Or

TIPRE AT o R [ERC A
S 12115 1< e A e I

WIF TS Jfay FCT 2 A 97 | 3+8=11

What is business process outsourcing?
How are BPO companies able to reduce
costs and improve efficiency? Explain.

2R TR SR sRey W e
STIARRIR @oe WR eRe Rae RfCHATST
91|

Make a review on Indian Laws of social
security to workers and its impact on
industrialization.

¥<T/ Or
T [ oW SR sy AT
AR 7 AT <597 |
“Social insurance and social assistance

supplement each other side by side.”
Discuss.

(R039 77 29737 q= wohe R0 7EY)

( Additional 20 marks for 2023 Batch )

7. (a)

P25/1528

Wﬂ@?@a?{ﬁ%ﬁmmﬁmﬁm
SICEOAT 97 |

Discuss the factors responsible for
growth of slums in towns.

11

10
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(21)

<1/ Or

(b) TE Freceered SR T 7 |

Explain the principles of an effective
counseling.

8. (a) Fre =TT wizas Reepz 0 390 | 10

Explain the provisions of the Child
Labour Act.

<1/ Or

(b) TRTE FAES TR SE [ 2 HCEm I |

What is the status of social security in
India? Discuss.
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Paper : MINBNI2

( Principles of Insurance )

1. oo fraeares fom spiiR Tee e 1x8=8

Answer the following as directed :

(a) & e AR “Reny s = =% @
ARCNET 2o 72w, cefeqr T Sivf Q9"
&0 4 Fiace & % 392" 591 = 2

What term is used to describe the value
of an insurance policy when all
premiums have been paid and no
further payments are required?

(i) SRIYE =1

Surrender value

(ii) CoRC-91% o
Paid-up value

(ir)) e o
Premium value

(iv) JPICST Pkl
Deductible value

(= Teaco! A1 Tferear )

( Choose the correct answer )
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( 23 )

p) R s e @ G5 fiE e AR

()

“AfeifS e & T |
(1A IR AT )
A certain percentage of the sum assured

to be paid periodically according to the
policy term is known as

( Fill in the blank )

A= fee @R e @ TR REgeze

e TET ez AT AR |
(IR R N)

principle of insurance states that
the insured must have a financial
interest in the subject matter of the
insurance.

( Fill in the blank)

(@) ThG-Fe ARfw Iow aeleR B Ige

P25/1528

s se= RFe R0 |
(w7 1T ol )

Unit-linked policy offers investment
option linked to market performance.

( Write True or False )

( Turn Over )




(24 )

(e) @& #ZF “Rfocy Jge afeq W e
I FOIIE oMl T |
(% & S, f )

Whole life policy provides coverage for
entire life of the insured.

( Write True or False )

() -8 [ An2fiF S 7 0

What is the primary purpose of the
non-life insurance?

(9) TN RIS E TaET FErHI (IRDA) 7wl
IR
The Insurance Regulatory and Develop-
ment Authority (IRDA) has the power to
(i) IE SARLE SR G FA
issue licences to drive vehicles
() W @ WE VTSR -
I AT 4
regulate the functioning of
Insurance Companies and inter-
mediaries
(i) ToCSTST AR 7 e 5
set the price of consumer goods
(iv) PR cvge sizmen s
conduct medical research

(= Teaco AIfe Sferear )

( Choose the correct answer )
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(25 )

(h) [ RS Iy I CEr IR R fEd
41

(% =Ry= =741 )

The main function of insurance

regulators is to determine insurance
premium rates.

( Write True or False )

2. woe e T (@I SIf0R 8o 5 (Gl 4

3x4=12
Write short notes on any four of the
following :
(@) *F=ITT
Reinsurance

(b) [ =L [

Principle of insurable interest

(c) SReER S I R

Life Insurance Organizations in India

(d) §-8% IR AR 29T

Types of non-life insurance products

(e) T EFEAE

Insurance ombudsman
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10

10

10

3. (a) WWW\OW_&W SICES T |
Discuss the role of insurance in
providing social security.

S2<1/ Or
(b) I AR FfRee geife T SAMRER
SCET0A 97 |
Discuss the factors influencing the
determination of insurance premiums.

4. (a) N e RSy NMem 360 3991 |
Explain the various principles of
insurance contract.

o]/ Or
(b) Qi vs RfSw “rfe ey wcemssn 31 |
Discuss the various phases of life
cycles.

5. (@ I RRm aema [ cfefrm R
SO 4T
Discuss about the different types of
insurance policy.

&[T/ Or
(b) IR 2 & A =il e IRER TS
NLFIIR 2 3+7=10
What is annuity? Distinguish between
annuity and life insurance policy.
P25/1528

BN
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(27 )

6. (0) W W WF -G N SBAE TwO

NAFIIR I 9 | 10
Explain the difference between Life
Insurance and Non-Life Insurance
Policy.
¥/ Or

(b) SRER Rfen R I @A R

SICEAS] I SF TN Y FROE TeEe 790
7+3=10
Discuss about the various types of
Insurance Companies in India and
mention their main functions.
( 2oy o F1 *MTq M3 Wfe® 0 751
( Additional 20 marks for 2023 Batch )

7. (a) SRS I ToaeR QSRR Rada s9tF rm
39| 10
Briefly explain the historical evolution of
insurance industry in India.

%3]/ Or
(b) =& I 2 2 9N 4RI &g A1 wvE
R (TR AT =W, I 391 | 3+7=10

What is whole life insurance? Explain
how it differs from other types of life
insurance policies.
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8. (a) TN IERY AGLOFN BT SCAGH 1 | 10

Discuss the role of intermediaries in the
insurance market.

{1/ Or

(b) TR Seures YR (21 SRR & 2
What are the significant challenges \
faced by the healthcare industry? '

* *k %

'2 SEM FYUGP |
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